MATH 64/GRACEY NAME K,Q JYiP
EXAM 1/100 POINTS POSSIBLE

CREDIT WILL BE AWARDED BASED ON WORK SHOWN. THERE WILL BE NO CREDIT FOR GUESSING. PLEASE PRESENT
YOUR WORK IN AN ORGANISED, EASY TO READ FASHION.

1. (6 POINTS) Express the interval in set-builder notation and graph t lution set he number line.
[-16) \ - %
(3 POINTS) The solution in set-builder notation is : %_,% _ } - 7(’ < GM,.
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2. (4 POINTS} For the pair of functions, f and g, determine the domain of fz.
f(x)=4x-1and g(x)=xi—2 _ ' O{OW‘) 05: § & (- Od W)
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Domain in interval notgtion: (“' oq, Z‘) U CZ / DG)
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3. (8 POINTS) The function below is defined by two eqdations The equation in the first row gives the output for

negative numbers in the domain. The equation in the second row glves the output for nonnegative numbers in
the domain. Find the indicated function values.

(x)= {x+5 ifx <0 F-)=-)1r576 T}(") Me)-2 =54~ L= 52
9x-2 ifx'z() . f‘(QD" G]('Q) -22-7 .

a. f(—1)= a | | . f(6):.§r5’2._] -

b. f(0)= :Zl ' Cd f(=D)+f(6)= F@%—(
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(6 POINTS) Use the graph to find the domain and range of the relation. 6 +52
Use the graph of the fimction to identify #ts domain and its

range. : o
Y N o 1=5=1)
: Domain in interval notation: - /
B Range in interval notation: qu—fi)
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14, (8 POINTS) Use the graph of .f to draw the graph of its inverse function.
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15. (6 POINTS) Use the graphsof f and g tofind (£ +g)(-3)
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16. (9 POINTS} Determine whether the relation is a function.

{(-1.2),(3.5).(5.0).(5.2)}

a. {2 POINTS) CIRCLE ONE: YES

b. (4 POINTS) Domain: _%‘"‘\ ,3;5 S
(‘ o
c. (3POINTS)Range: 7 ©O,7~, 5?)

Extra Credit. (5 POINTS)Simplify the complex rational expression.
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